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70 / 100 [—HKiEtiE] } / (13)C [—FREUHE]
ZlEU. FoOWITNhDEEEFEIZITIBEE (27)C=0
- CTEEREOEEZEVEES
- ((8)C+(9)C) / (B)C < 75%
- (8)C=0FEEF(9)C=0
& : (4)C x {(15)C x 80/ 100 [—MHEKmIE] + ((13)C—-(15)0)
60/ 100 [—FRimIE] 3/ (13)C [—FXKiEtIHE]
ZlEU. BFoOWITNHhDEEEFEIZITIBEE (28)C =0
- CTEERRBOEEZEVEES
- ((8)C+(10)C) /(6)C < 75%
- (8)C=0FfzE(10)C=0
B : (4)C x {(15)C x 80/ 100 [—MHEKmIE] + ((13)C—-(15)0)
50/ 100 [—FRiEmtIE] 3/ (13)C [—FKiEtE]
iU, MFonsnhoftzimizdizad (29)C =0
- STESEREOEEZEVEES
- ((8)C+(11)C) /(6)C < 75%
- (8)C=0FEfzE(11)C=0

-

-

REHRUEARNTNEE

SHER ¢ (4)D x HRUMEARK [—HREIE]
FHIRUMEAE-{ ((14)D x 90/ 100 [—FkKHEE] )
((15)D x 80/ 100 [—FIFKFELIHE] )
((16)D x 70 / 100 [—FKFELIE] )
((17)D x 60 / 100 [—FFKFELIHE] )
((18)D x 50/ 100 [—FKFELIE] )
+ ((19)D x 40/ 100 [—AXx®EHE] ) }/ (13)D
7ZrEU. (13)D = 0F7z(H(4)D = 00 & =(E (20)D = 0 (0 ZFRTRIT D)
—EEOEEREDBEEDEE(E (200D =0
STEI 1 (4)DXFHRUMLAR [—HAREUIE]
FHIRUEAR---5E—FE : 90%. E_FE : 80%. FH=FF: 70%. H
MIZE : 60%. SEFRFE : 50%. FHNE : 40%
X(7)'D~(12)'DD>S5. 75%U EDED
- BHOBEXDNHUTIEIEDBRE. REARUEAENTNEE
X572 &EIRT D
« 75% U LDBEXDHFELURMES. HRULEAZKIZ0%
=1L, (4)D = 0DEEF (21)D =0 (0 ZFRRIT D)
—EREOEEEEDBEEDEE(E (21)D =0
&R (4)D x {(14)D x 90/ 100 [—AFX#HELNHE] + ((13)D-(14)D)
x 80/ 100 [—FREEIE] } / (13)D [—FREUIHE]
U MFonWTnhogidEiEizdiga(d (22)D =0
- CIEERmOBEEEOEES
((7)D+(8)D) / (6)D < 75%
(7)DD=0FE=EFE(B)D=0
(4)D x {(14)D x 90/ 100 [—MEkKimtI#E] + ((13)D—(14)D)
x 70 / 100 [—FRE&UIHE] } / (13)D [—FREUIHE]
U MFonwWTnh iz diga(d (23)D =0
- CIEERmOBEEREOEES
((7)D+(9)D) / (6)D < 75%
(7DD 0 FEEFEOD=0
(4)D x {(14)D x 90/ 100 [—MEKimtI#E] + ((13)D—(14)D)
x 60/ 100 [—FRm®UIE] } / (13)D [—FREUIE]
=L, MFonsnhoiitziEmizdizad (24)D =0
SEERHOEEZEOEES
((7)D+(10)D) / (6)D < 75%
(7DD =0 FEEF(10)D=0
st& : (4)D x {(14)D x 90/ 100 [—F=Ki&EtNE] + ((13)D-(14)D)
x 50/ 100 [—FR@®U4&] } / (13)D [—FREUIE]
=L, MFonwsnhogftzimizdizad (25D =0
SEERHOEEZEOEES
((7)D+(11)D) / (6)D < 75%
(7DD 0 FEEFE(AID =0
& (4)D x {(14)D x 90/ 100 [—H=FK&ENHE] + ((13)D-(14)D)
X 40/ 100 [—FREUHE] }/ (13)D [—FREUHE]
U, MFounwsnh &4zl dimad (26)D =0
SHEERHOEEZEOEES
((7)D+(12)D) / (6)D < 75%
(7DD 0 FEEFE(A2)D=O
stE: (4)D x {(15)D x 80/ 100 [—FKmEIE] + ((13)D-(15)D)
x 70/ 100 [—FRiEUIHE] } / (13)D [—FREUHE]
U, MFounwsnh ozt dimald (27)D =0
SHEERHOEEZEOEEE
((8)D+(9)D) / (6)D < 75%
(8) D=0 FEEFE QD=0
stE1 : (4)D x {(15)D x 80/ 100 [—H=FK&ENE] + ((13)D-(15)D)
x 60/ 100 [—FREYHE] }/ (13)D [—FREUHE]
U, MFonwsnhog&tziEizdimald (28)D =0
SHEERHOEEZEOEEE
((8)D+(10)D) / (6)D < 75%
(8) D=0 FEF(10)D=0
stE3 : (4)D x {(15)D x 80/ 100 [—H=FK&ENE] + ((13)D-(15)D)
x 50/ 100 [—FRiGYHE] } / (13)D [—FREUHE]
iU, MFonsnhoitzimizcdizad (29)D =0
- CIEEREOSEEEOEES
((8)D+(11)D) / (6)D < 75%
(8 D=0 FEF(11)D=O

+
+
+
+

e

STER .



2FERDFEET75%U L
((8) + (12) ) / (6) 275%

2FERDFET75%U L
((9) + (10)) / (6) 275%

2FERDFEET75%U L
((9) + (11)) / (6) 275%

2FBADEET75%LU E
((9) + (12)) / (6) 275%

2FBADFET75%LU E
((10) + (11) ) / (6) 275%

2FBRADFET75%L E
((10) + (12) ) / (6) 275%

2FBRADFET75%L £
(A1) + (12) ) / (6) z75%

R RIEATER

(30)

(31)

(32)

(33)

(34)

(35)

(36)

(37)

T8 : (4)A x {(15)A x 80/ 100 [—FFRiEtHE] + ((13)A—(15)A)

/ 100 [—FRBEUHE] ¥/ (13)A [—FHXKRBIE]
ZlEU. BIFOWSNh D& ZEZIiHEE (30)A =0
- ZEERBOBEZEOEES
((8)A+(12)A) / (6)A < 75%
- (8)AS0ZEF(12)A<0

STER 1 (4)A x {(16)A x 70/ 100 [—FFR&EENHE] + ((13)A—(16)A)

/ 100 [—FREUHE] ¥/ (13)A [—HXKRBIE]
ZIEU. BIFOWSNh D& EFIZEITHEE (31)A=0
- ZIEBEREOEEZEOEXSE
((9)A+(10)A) / (6)A < 75%
- (9)A =0 Z/ZE (10)A<0

STER : (4)A x {(16)A x 70/ 100 [—FFR&EENHE] + ((13)A—(16)A)

/ 100 [—FKREBUHE] 3/ (13)A [—FKREGEHE]
TElEU. BIFOWSNhDESZEFIZEITIHEIE (32)A=0
- ZIEBEREOEEZEOEXSE
((9)A+(11)A) / (6)A < 75%
- (9A SO0 FEE(11)ASO

STER : (4)A x {(16)A x 70/ 100 [—FFR&EENHE] + ((13)A—(16)A)

/ 100 [—FRmYRE] 3/ (13)A [—FXEUIE]
ZIEU. BIFOWSNh D& EFIZITHEIE (33)A=0
- ZIEBEREOSBEZEOEESE
((9)A+(12)A) / (6)A < 75%
(9)A S 0 F/zlF (12)AS0

SHER : (4)A x {(17)A x 60/ 100 [—FFRmEIIE] + ((13)A-(17)A)

/ 100 [—HE=FXRETHE] / (13)A [—HFKELIE]
ZIEU. BIFOWSNAh D& ZEFIZITHEE (34)A =0
- CIEEREOEEZEOSES
((10)A+(11)A) / (6)A < 75%
- (10)A =0 F=(F (11)A=0

SHER : (4)A x {(17)A x 60/ 100 [—FFRmIIE] + ((13)A—-(17)A)

/100 [—HE=FETIHE] / (13)A [—HFKEIE]
L. MFOWSNh DR B IIBE (35)A =0
- CHEEREOEEZEOSES
((10)A+(12)A) / (6)A < 75%
- (10)A S 0 F/=(F (12)AS 0

SHER : (4)A x {(18)A x 60/ 100 [—FRmtIIE] + ((13)A—(18)A)

/100 [—HE=FETIHE] / (13)A [—HFKEIE]
L. MFOWSNH DR B TIBEZ (36)A = 0
- ZHEEREOEEZEOSES
(11)A+(12)A) / (6)A < 75%
- (1A S0 FE[F (12)AS0
HER  (20)A~(36)ADEAIE
I, —BHOSBEEEVEEEDEE(E (37)A=0

x 50

x 50

s8R : (4)B x {(15)B x 80/ 100 [—FAFKiEtI#E] + ((13)B—(15)B)

40 / 100 [—HEFXHBUIE] } / (13)B [—EHFXHEIE)
U, MTFounwsnhogsziEizdisald (30)B=0
. CEEREOBEEEOBEE
((8)B+(12)B) / (6)B < 75%
(8)B =0/l (12)B=0

s8R : (4)B x {(16)B x 70/ 100 [—FAFKi&tI#E] + ((13)B-(16)B)

60/ 100 [—H=FK&ENIE] ¥/ (13)B [—HFKHELIE)
U MFOWTNHDRMEEBEIIBEE (31)B = 0
- CHEEREOBETEDEES
((9)B+(10)B) / (6)B < 75%
(9)B =0 F/=lZ (10)B=0

8= : (4)B x {(16)B x 70/ 100 [—FAFKiEt#E] + ((13)B-(16)B)

50/ 100 [—FRitDiE] } / (13)B [—FREHNHE]
U MFOWTNH DR BREIIBEE (32)B = 0
- CHEEREOBEETEDEES
((9)B+(11)B) / (6)B < 75%
(9)B= 0 Fld (11)B=0

8= : (4)B x {(16)B x 70/ 100 [—FAFKiEtI#E] + ((13)B-(16)B)

40 / 100 [—HFK®UHE] } / (13)B [—AXR&EUNHE]
2L LTFTonwTnhog4zimizdigald (33)B=0
- CHEEREOBEETEDEES
((9)B+(12)B) / (6)B < 75%
(9)B = 0 F/z(d (12)B= 0

S8R : (4)B x {(17)B x 60 / 100 [—FFREHNHE] + ((13)B—-(17)B)

50/ 100 [—AXxmEHE] } / (13)B [—FKREHE)
2L, UMTFTonwITnhoR4zimizdigald (34)B=0
- CHEERBOSETEVSEES
((10)B+(11)B) / (6)B < 75%
(10)B = 0 &/=(% (11)B = 0

S8R . (4)B x {(17)B x 60 / 100 [—FFR&EtNHE] + ((13)B—-(17)B)

40 / 100 [—HR®UHE] } / (13)B [—HAXR&EUNHE]
U, MFOWT N DR B IIBEE (35)B = 0
- CHEEREOBEETEDEES
((10)B+(12)B) / (6)B < 75%
(10)B < 0 Z/z(& (12)B = 0

S8 : (4)B x {(18)B x 60/ 100 [—FIFREtNHE] + ((13)B—(18)B)

40/ 100 [—EX&EUIE] } / (13)B [—HEXEUIE]
U, MFOWTNHDRME% B IIBEE (36)B = 0
- CHEEREOBEETEDEES
((11)B+(12)B) / (6)B < 75%
- (11)BsSO0FF (12)B<0
HER : (20)B~(36)BOSATE
ElZU. —BEOSEEEVBEEDEEE (37)B=0
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S8R : (4)C x {(15)C x 80/ 100 [—AFKimtlHE] + ((13)C—-(15)C)

40/ 100 [—HEFXHBUIE] ¥/ (13)C [—HEFXHEIE]
Z1ZU. LFonwsTnhoEgEimizdiaald (30)C=0
SEERBOBEEEOBEE
- ((8)C+(12)C) / (6)C < 75%
- (8)C =0 F=F(12)C=0

S8R : (4)C x {(16)C x 70/ 100 [—AFKiEtHE] + ((13)C—-(16)C)

60 / 100 [—AXEUHE] } / (13)C [—EKEHLE]
U MFonwTnhrogaiEizcdigad (31)C =0
- CIEEREOEEZEOSES
- ((9)C+(10)C) / (6)C < 75%
- (9)C = 0 Z/=(F (10)C = 0

S8R : (4)C x {(16)C x 70/ 100 [—AFKiEtHE] + ((13)C—(16)C)

50/ 100 [—FKiEtE] } / (13)C [—FKEHE]
U MFonwWTnhogiaiEizdigad (32)C =0
- SRR ETEOEES
- ((9)C+(11)C) /(6)C < 75%
- (9)C=0FEF(11)C=0

S8R : (4)C x {(16)C x 70/ 100 [—AFKiEtHE] + ((13)C—(16)C)

40 / 100 [—HFK®YRE] } / (13)C [—AX&EUNHE]
FERR U, MTFOWTNH D&M BIZTIHBEE (33)C =0
- CSIHEEREOBEZEOEESE
- ((9)C+(12)C) / (6)C < 75%
- (9)C = 0 F/=(F (12)C = 0

SHER . (4)C x {(17)C x 60/ 100 [—AFREHE] + ((13)C-(17)C)

50/ 100 [—FKiEtHE] } / (13)C [—AKEUHE]
U MFoWITNHADEMEEIZIIBE(E (34)C =0
- CTESERROEETEOEES
- ((10)C+(11)C) / (6)C < 75%
-(10)C=0FrEF(A1C=0

SHER . (4)C x {(17)C x 60/ 100 [—AFREHE] + ((13)C-(17)0)

40 / 100 [—HFK®YHE] } / (13)C [—AX&EUNHE]
1200 LFonwWInh o4 ziEizdizald (35)C =0
- SIEEREOBEZEOEESE
- ((10)C+(12)C) / (6)C < 75%
. (10)C s 0 Ff=lF (12)Cs 0

STER . (4)C x {(18)C x 60/ 100 [—FFEHNHE] + ((13)C—-(18)C)

40 / 100 [—HFK®YHE] } / (13)C [—AX&EUNHE]
1200 LFonwWInh o4 ziEizdizald (36)C =0
- CEEREOEEZEOSES
- ((11)C+(12)C) / (6)C < 75%
S (11)Cs 0 F=F (12)Cs0
HER : (20)C~(36)CORAIE
FElZU. —BHEOSBEEEVSEEDEE(EL (37)C=0

8= : (4)D x {(15)D x 80/ 100 [—FFKi#EtIHE] + ((13)D-(15)D)

x 40/ 100 [—FK&EUHE] }/ (13)D [—FKEE]
EEU. MFoWwWsnh o4z 9iHald (30)D =0
. CEERBOBEEEOBEE
((8)D+(12)D) / (6)D < 75%
(8)D = 0 Z/z(& (12)D < 0

8= : (4)D x {(16)D x 70/ 100 [—FFKi#EtIHE] + ((13)D-(16)D)

x 60/ 100 [—AFKEE] } / (13)D [—FAXKEIE]
ZlEU. IFoOWISNh &4 EEEIH&EE (31)D =0
- CHEEREOSEEZEOEXE
((9)D+(10)D) / (6)D < 75%
(9)D = 0 Z/z(& (10)D < 0

8= : (4)D x {(16)D x 70/ 100 [—FFKi#EtIHE] + ((13)D-(16)D)

x 50 /100 [—HXiEUHE] } / (13)D [—HKEUE]
ZIEU. IFOWISNh &4 EEIETHEE (32)D =0
- CHEEREOSEEZEOEXE
((9)D+(11)D) / (6)D < 75%
(9)D = 0 Z/z(& (11)D < 0

8= : (4)D x {(16)D x 70/ 100 [—FFKi#EtIHE] + ((13)D-(16)D)

x 40/ 100 [—F=RiEtI4&E] } / (13)D [—FKREE]
ZlEU. IFOWISNh D&t EEIEIHEE (33)D =0
- CHEEREOSEEZEOEXE
((9)D+(12)D) / (6)D < 75%
(9)D S 0 F/=(& (12)D <0

5t8= : (4)D x {(17)D x 60/ 100 [—FFREtN#E] + ((13)D-(17)D)

x 50/ 100 [—F=RiEt&] } / (13)D [—FKREtE]
ElEU. IFOWISNh D& EEIZITHEE (34)D =0
- CEEREOEEZEVSEE
((10)D+(11)D) / (6)D < 75%
(10)D = 0 F/=(F (11)D =0

5tB= : (4)D x {(17)D x 60/ 100 [—FFREt#E] + ((13)D-(17)D)

x 40 / 100 [—FR&EUHE] 3/ (13)D [—FREIHE]
1200 LTFonwdnhoR4zimizdiszalE (35)D =0
—BEREOBEEEOEEE
((10)D+(12)D) / (6)D < 75%
(10)D < 0 F/=(F (12)D < 0

5tB= : (4)D x {(18)D x 60/ 100 [—FFREt#E] + ((13)D-(18)D)

x 40 / 100 [—FR&EUHE] 3/ (13)D [—FKEIHE]
1200 LFonwITnhoRgziEizdimalE (36)D = 0
—BEREOBEEEOEEE
((11)D+(12)D) / (6)D < 75%
(11)D < 0 F/=(F (12)D = 0
S8R (20)D~(36)DDORAME
ElZU. —BHEOSEEEVSEEDEEE (37)D=0
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